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Square of 12438
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Square of 5 - 25

. Uni4+ digi+t of square ofF 5)25 Js 5.
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_Square of 6 - %6 |
S UnM diglt of square of\ 7286 is 6.
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82 Which of the Following NuUmMhers are
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i) 25¢
o 156 = 16X I8

- 166 js a perfect Sqgare.
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—_ S 32 js Do+ «a PerF€C+ Squaqre.

- ¥ 600

- €oo is 0Ot o perfect square.
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@3 The Following numbers are
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¥ The numbers that 2,%,7,8 ip on't placeare no+
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257 is not o peffect Square N

becayse jts anit digit Is *.

) 4592
4592 is pot o pecfect Square

because (TS gnit digit s 2.

Wy 2433
oL%3 (S not aq perfeckt sSquare
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Joit digit = 4

Square ofFf 4 = 16

. 6 IS -a even ‘numbel

20 4 is even pumber-:
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214 ore Numbers qre 1N beérveen
5%uqres oF 10T

JOK .

b

Q.6 [Iithout adding , Find +he Sum of the

\> [+ 3+ 54+ 7 4+ 9 -

[,5.5,7,9 are odd nuymbers
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N =25
n"),: 52: 245_

e r—

Sum of 1+ 2+ 5+7+9 s 25
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Sum of 1+5+5+74-9+H+I34~15+;7

y19 + 2 423 +25 IS ) €9
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'/@1., Find 4nhe square root of 1he fallousing
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- . 53, 3 are {n . palr 5 s _Noft in
\ L e —_
a_pair o
APt = !

\" 8o 3645 myst be m_:.J'Iﬁ'PTfed by 5 fo
\//, get perfect Squore ’
\—/"’ : { ; ' .
\ Q> find thbe sSmallest numbecr bc;; whiCh
J 2400 is 4o pe mulfiplied +to get q |
y perf«ec-r Square % 9lSo find “the Square
A (oot cF (esdlting ndMber.
— J
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N

2 |l2eo 2400 - OX2X2X2 X2 X3BX
. _

2 | 200 - oxX2X5 X 2X5
T 2 |15 0

5 [ 15 . 2,nr,5 ar€ N _pairs
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| |
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| For perfect squafe , W€ oneed 70 .
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2400¥%X BY2 = 2400 X 6 = 144G
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Here , 2,92, 3,3 are in pairs <& 2,3

—_agre _ _nNo 4+ in
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Qn B2l drees are  plapded Iln a  garden
In Such a - way 1Thad  4here Qré So.
MaNy  ees 10 eqgch rfoeWwWsS as dhe(e.

Qe rawg in the gacrden: Find 1he no.
Of (ows & No. oFf +re€es in €ach TOW.

A - Suppese  the 00 . of re8sS /s x.
. So the NO. of trees (n e9ach row

| Wil _agise equal 1to X. s
-— _ 2 N
4 leatral d4rees = XXX =X i e

Giiven . dot+al 4rees = 1562 . .
| L - | :
| So we have +o0 Find sSquare root 1
L ©F 152]. -
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S lger . =z BXIS
3 Jrss = A3 -/
N 1% [ T3 -
ﬂ 1_4 L
B _
o X = %4 S
So _the no. of *trees ic 29 4 -

NO. oF rows 18 38. | \/

7

96 A School csllected < 260l as Fees -
Ciom i+s  otydents . [F Fee paid by =

€ach Studepnt & numbec students g

\n_ 4he S chool wWere &qul\ , ho) g

many Students were 4here N 1he :
Schpo! ¢ .

Ans - »

Syppose dhe No. of stadents . in

\

Q Schoal :is: X .

So Fees paid by eqgch Students
s X, ' S




Sce Wwe haye o Find  Squadre root

OoF nmgao).

3 | 260 I
5 861 _— .
T 289 R
. ) o2 R [
) N S
B . | B
MAMQGOI = BXB3 X [7T%X 17 -
: i S %X )7
""""" : 3 )
o X =z 5

51 Students wece There in School.

0 F The product of +wo numbers s 1238
- |
TF onpe numb@el s |16 Hmesgs The

Other . Find —he +rwo onygmbers -

45 7

Sdppose  the ndamber is %X & other

OdMber 1s 16 X . | o

X % 16X . (296 S

« ,_,.',6?(,? = 1296
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) X - g > B
6 x - 1ex g =144

D The 4wo pymbers are 9 4 (44,

-~ TN
Q. & 7921 soliders Sat in_ an additor/dm

"L b Such 4 way that+ “dhere are as
meny  Soidiers in _a (oW as there
are rowe inp the auditorid™. How many
o rows afe  +4hece in auditoridm 9

- Apst Suppose. No. of goldiers ' each
_ | S %

So No. of rows in tre  ddditoridm

i is X

Totol gardiers = 792 -
X X X = 773972

x> - 792




80 Wwe_ have 4o $¢nd Sqyare roor
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X - £9
~— . . .
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— —s
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(@9 The area of a Square Ffield g 684 mzh_‘
L Find +he area of (ectanguwar gield
wWho ge perime"r er S _eqgual +o the
pelfimeter ok sqgdare Fiejld & whoSe
lepagtfh 1< +wice  oF i+tc preadth,
Giiven - o
2 3
Area of square = 54y m B
Perimeter oFf rectanqguldr Fieid = Pesi-
Mmeter of square Field ¢ leng4h - twice

o ,b,.g:.g_;g -,d-’j??_-'—'_ G o =

e vy i A
e et A A
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. Side : [s1g4 o T
2 [si=q P
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2 1296 N
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2] 32y

2. | 6 2
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4 X T2

-—
-—

288 M

_ : -
5184 = 2 x2X2X2X2¥2X 3XDEXBX% il
. X 2X 22X BK3
:  TE s
side = 12 |
Perimeter oF Square 4 xside S—
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g5 A gardeer  wisphes o plam  FZEI plans

i

o 4pe Form  of q, S8quare 5 Foand

——that _thefe were g plants (€6 Howd

pas=__ 8 plants were jef+t From 28283 plarts

rouv) %

many _plants were planted  in_each row.

SUppose  fthere are X plants in a
there qQre X ho. OoF rowd)s .

X X %X . gag| -
— 2
X = 828| -
SO
X = \/ Q22| -
S
X " 9 -
P’_—_’f -
T o
- Thece are 91 plants iy each rfow.
Q.6 Find the least perFect Sgyare with
fou( dIQH'S R 1
The le as+ Number W (t+h Four S
digits 's looo. : -:‘
.
F ! - [
e We Find Squoare (oo+ of J]OOO —
— bL}I Faryr diursian Mmethod . —_— g
—

!
i
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\5)000 = 5l.& which s noT 9

pPerFect Square.

So +the no. afder 3V.g:  ye A

2
32 = 32X B2 = oy

/024 is +he  Smpalest+  FLour digit

numMmb=er Which s g peyFect

SO) ugre.




J’L_d Ve lea s+ namber wh'fh OUST -

\, _be added +o 6441 +o make jt+' o

N /@e_L_ﬁ_Li“S_o Jdore ° -
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Y ‘,05)/’3% WisSion mMethod -

\// 8 o

N 8 | 6412 |

N &Y

\"/’ &0 SO |

A _° |

N | 2
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\l,” 6eYHl2Z & not+ g perfect Sguyqre..

Y

\ Th e no a Fter o js &).

\/ )

~ 7 :

8% 5, xgq - 656 |

-+ )
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1 65 €1 — Syl = 149

g - : _

i 49 ™Muyst be added to @ €42 o
To make o____pecfect Square. S
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- 1y J%o |
R . 5 5 ‘\/
i - 250 ljies betweenp 15 %5 1§ -
o oL 9 \/
- 57 235 16 = 25% :
~e ” \/
5 < \iQ—zSQ < |6 \
Joso o s .
iy 180 ——
180 jes beftoeen 9.7Z & ne%
23% = Fo9 5 ogt = 184
1729 < 120 < [J1gg
29 = Jjg6 < 23
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|
L Fnd 1he cuabe of _Fall owINg. _pumbers
& EXgxg -8z o
N
4 iy L€ 3 e e R
16 - Is X168 X 16 256 X 16 - 403 6
- e‘l(i(\ 3-( - .
- 2( X2 21 = 44y X210 = 32¢)
iy 30
R 3¢ - 30X30 X305 - 9oo x30 = 27000
g2 Test c«heather The given oumbers
» ~J ) ~
| Qreé pexfect cubes OC Not-
— , i =
) 285 %
D :
. fagg
— -
% = 243% - 3X3 %3 X33 3 |
= 27 = .1 e 3 x 3
=z |9 A
- > 13 3 18 not Iin iriplex+ -
K -4
. 243 |g n o+ a jpeFﬁcj" Cube.
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2 |Yyooo 8000 : 2Y2X2xaxoy,
-‘__V_‘?— 2000 X5XE x g
I D_ ] © © O o h
2 so0 o = B X 2% 5 - yx5
2 250 - 20
I _*5 t 2.5 .2, 2 &5 are
=il 25 n__Triplet. -
2 5
J -
/—. e ]
| : Bcoo Is a perfect cube
—
/\LQJOO
' 2 |270 0
o 125 O 2700 = 2X2X3 X3X3yoy;
. 615 = 2 X2 X3 X 5
3 225
= | 75 L2, 3 & 5 qre. Nnot
S s 2254, Hie Hflple‘!;_
s |5
|

2700 s not g perFect Cybe.
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e 3)2€0)) = S X 17 x 17
e 3 8 6 7>

S \77| >89 o

_,__ﬁ._ﬁ_i% 7 o
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17 s left in Ariplet

| —

{f I Shoqgld be mul-—HP\ied + o TR0 3%

Nl to get perfect cube numMmber . .

r&-s Find +he Smallest number by ubhich

- 8640 must be divided co tha+ the

: qyoti en+t |8 a 'perﬁeu— cdbe ¢

. 2 | €640 8640 = 2X2X2X2X2¥2 _
> | 4320 = TX3X3 X5
2 5160 -
D o Lo B
2] 5450 .. 2 ,% , 2 are in -
> =70 triplet & S is =
3 8o lect o +riple t -
) S0
oI By S4086 40 must .
I Le divided.
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@ 1 Fiad: the _smallest prime. NUMber div:’dm9

—  the sum a" 4+ g% 4

e s e e S — —3

ot B S — . S

:
The Sum_ of +wo odd numbers 's__€ven .

Any Even pno. is divisible by 2.

2 divides 8 + 5
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Exercige €.5

0.1 Find the cube . root of the F.Q!’p‘u\\,'n
o Qumbers nwy prime Factonzation
method i,
N 343 o
. 7 | 543 243 = T x3x7]
7 y 9 = 3 B ‘
7 7 /
—~— J_ o \‘ /
B 37 343 = .
iy 129 .
i 5 |29 -~
N 3 (243 729 = BXZI XD X3 X3 X3 -
N 3 | 21 S ™
K2 [ 3 D_ q_ - 9 —_
3 9 -
3| 3 )
| -
i %/ 79‘8 =9
iy 133
) I f)?:’)] 1% - X1 x )|
o ¥ |2 , = )
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Find +the cube

o+ oOF

+he  following

NDuMm bhers

Horoqgh

es+imation,
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2 X
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_ g
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NoO
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erou!D,
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Unit pmce =

93 . 7 x7x71 = HIXT = 343 s

Onit digit = B N

A1)

‘. Second qgro4dp = 2L \

13:] & 93: 8 \

= 5 \’
[ <« o <2

N ic +aken at +€enSs p/CtCC-’ Q

2197 - 3 S TR

—

Vi “ZFWse ) . ol e L

2375 e ; " el v | T

. B

Uni+ lp)cztce - 5 '

=

§ - 5x5X5 = 25X5 =z [25 i e

' T —
Uni+ digit - 5

- —

Second groyp = 3 -

P2 32 5%

:?./3375‘ = | 5
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\‘*‘ o 0Nt place =2
N—" S .
N 2% oxax2 : 4¥2 - g -
N—" Jni+ digi4 = 8 . - ‘ “— >>>>>
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_— 32
o \" < 5 4 2
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g5 State Arue  ar  false

B

Yy Cube o©OF an even namber 1S5  oan odd

N 1
NdmMber

—

False .QCuﬂbe of even onumber.|s "even

. Oumber)

(y A pefect cCu be may end with two
Ze(O0S o -~
False ) N o




. Cdbes ends  with  S.
) lwe S
Wy Cube _ofF q  pgmber ending Nith zec
. hasS  +4hree  zeros ot itS (f9ht
Trqge

\I} The Cupe oF Single dfglf'r Nnuamber ‘m'gii
7

diqi+ numbeér -

7 -

be q single

e [rue

Vi There iS No perFect  cube which

€nds with 8
\:-qISe ('The(e are many Cdbes

ends with ,S) -

wWh I.Qh

Viy The cube of a +wo dieit Ndmbe r
-J
May be o “hifee digit number.

Folse CThe smalle s+ o dj9it nNumper

s Jo. % (82 - 1090 [Jhich h a5

“  4igits i N )+)
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- e
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r o,

(&)hY Ch
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IS A  Squgre ndmper %

als o
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